
SG150 



Model  SG150

Art nr Tek nr Omschrijving Art nr Tek nr Omschrijving                                   1/1
B35915 3 ANKER SG150 B17913 58 KABELKLEM    SG150
211066-7 4 KOGELLAGER 6200LLB B20990 59 SCHROEF 3,9X16 SG150
B32615 5 O-RING SG150 31X2,5 B31468 60 SCHAKELAAR SG150
B50815 6 TANDWIELHUIS SG150 B44941 61 SCHROEF 4,8X38 SG150
B33415 7 TAPSCHROEF 5X20 SG150 B42721 62 SCHROEF 3,9X19 SG150
B07450 8 SCHROEF 4,8X80 SG150 B35055 63 TOERENREGELAAR SG150
B30361 9 TUSSENSTUK SG150 0,15
B30387 009A TUSSENSTUK SG150 0,3
B30379 009B TUSSENSTUK SG150 0,2
211251-2 13 KOGELLAGER 6003DDW
B30015 14 BUS  SG150
211281-3 15 KOGELLAGER 6203LLU
B46748 16 AS   SG150
B30148 17 O-RING 46X2 SG150
B11122 18 BOUT 8X90   SG150
B11189 19 RING 8,4    SG150
B33415 20 TAPSCHROEF 5X20 SG150
B10777 21 SPANROLLER  SG150
B11247 22 STANG       SG150
B18952 23 MOER M8     SG150
B33407 24 BOUT SG150 8X55
B10983 25 BOUT SG150 8X16 LI
B29934 26 BUITENFLENS SG150
B30486 27 RING 3      SG150
B29934 26 BUITENFLENS SG150
B30486 27 RING 3      SG150
B10678 28 RING 10     SG150
B30494 29 RING 18     SG150
B50831 30 BESCHERMKAP SG150
B11528 31 BOUT SG150 8X25
B29884 32 RING 2,7    SG150
B30171 33 LAGERBORGRING SG150
B50823 34 LAGERHUIS SG150
B21071 35 RING M8 SG150
B18952 36 MOER M8     SG150
B41418 38 TUSSENPLAAT SG150
B36137 39 SCHROEF 4X80 SG150
B50849 40 VELD  SG150
B08482 41 ZIJHANDGREEP SG150
B21030 42 SCHROEF 3,9X13 SG150
B38299 43 KOOLBORSTELAFDEKPLAAT SG150
B32508 44 KOOLBORSTELHOUDER SG150
B45872 45 KOOLBORSTEL SG150
B47721 46 NAAMPLAAT   SG150
B50807 47 MOTORHUIS
B31096 48 STANG       SG150
B09506 49 SPANROLLER  SG150
B26948 50 RING 13 SG150
B30981 51 BOUT M7X12 SG150
B31070 52 RING 7,4 SG150
B10801 53 ROLHOUDER SG150
B48611 54 HANDGREEPSET SG150
B14886 55 CONDENSATOR  SG150
B25221 56 KABELTULE    SG150
P-12918 57 NETSNOER 2X1.50 5.0MTR




